PRACTICE QUESTION PAPER -1

CLASS-IX
MATHEMATICS

Time: 3 Hrs. M.M. 80
General Instruction:

1.
2.

All questions are compulsory.

The paper consists of 40 questions divided into four sections A, B, C
and D. Section A comprises of 20 questions of 1 marks each. Section
B comprises of 6 question of 2 marks each. Section C comprises of 8
questions of 3 marks each. Section D comprises of 6 question of 4
marks each.

There is no over all choice in this question paper. All though internal
choices has been provided in some question.

SECTION -A
a) 2° by 2°
c) 2° d 2°
or
(625)™'° x (625)°® = ?
a) 5 b) 25
c) 125 d)  625.25
If §+%=— (x, y # 0). the value of X’ — y* is
a)” -1 b) 1
o) 0 9 =
2 2 2
fa+b+c=0then 2+ +L =2
bc ca ab
a) 1 b) 0



The values of 249° — 248% is
a) 1’ by 477
c) 487 d) 497

If (2, 0) is a solution of the linear equation 2x + 3y = K, then the value of
Kis

a) 4 b) 6

C) 5 d) 2

How many linear equations is x and y can be satisfied by x = 7 and
y=27?

a) Only One b) Two

c) Infinitely many d) Three

The pointwhose ordinate is 4 and which lies on y-axis is
a) (4.0 b)  (0,4)
c) (1.4) d 42
or
If P(-1, 1), Q(3, —4), R(1, —1), S(-2, —3) and T(— 4, 4) are plotted on
the graph paper, then the points in the fourth quadrant are
a) Pand T b) Qand R
c) Only S d) Pand R

The angles of a triangle are in the ratio 2 : 4 : 3. The smallest angle
of the triangle is

a)  60° b)  40°
c)  80° d)  20°

Two sides of a triangle are of length 5cm and 1.5cm. The length of the
third side of the triangle cannot be.

a) 3.4cm b) 3.6cm
c) 3.8cm d) 4.1cm



10.

11.

12.

13.

14.

15.

16.

The figure obtained by joining the mid point of the sides of a rhombus,
takenin orderis

a) arhombus b) arectangle

c) asquare d) any Parallelogram

In Fig. AB and CD are two equal chords of
a circle with centre O. OP and OQ are
perpendiculars on chords AB and CD
respectively. If Z/POQ = 150°, then ZAPQ
isequalto

a) 30° b) 75°
c) 15° d) 60°

A
By the Heron's formula, the area of AABC c b
isgivenby A= sqQ. unit.

B

C

a

The sides of a triangle are 56cm, 60cm, and 52cm long. Then the area
ofthe triangle is

a) 1322cm’ b) 1311cm’
c) 1344cm’ d) 1392cm’

The sides of a triangle are in the ratio 5:12:13 and its perimeter is
150cm. The area of the triangle is

a)  375cm’ b)  750cm?
c) 250cm’ d)  500cm’

The total surface area of a cone whose radius is é and short height
2lis
a)  2nr(I+r) b)  ar(l+7)

c) nr(l+7r) d) 2mrl

The radius of a hemispherical balloon increases from 6¢cm to 12cm
as air is being pumped into it. the ratios of the surface areas of the



17.

18.

19.

20.

21.

22.

balloon in the two cases is
a) 1:4 b) 1:3
c) 2:3 d) 2:1

The class mark of the class 90 — 120 is :
a) 90 b) 105
c) 115 d) 120

The mean of five number is 30. If one number is excluded their mean
becomes 28. The excluded numberis:

a) 28 b) 30
c) 35 d 38

A coin is tossed 60 times and the tail appears 35 times. What is the
probability of getting a head ?

a) by 12
12 7
5 12
C) jﬁz d) -E;

Fillin the blanks :
If E be an event, then P(E) + P(notE) =

SECTION -B

If the point (3, 4) lies on the graph of 3y = ax + 7, then find the value
of a.

or
Find four different solutions of 2x + y = 6.

If PQ || ST, ZPQR = 110° and £ZRST = 130°, find ZQRS
S T

110°



23.

24.

25.

26.

27.

28.

29.

30.

Find the area of the trapezium whose parallel sides are 14cm and
10cm and whose heightis 6¢cm.

The perimeter of a anisosceles triangle is 32cm. The ratio of the equal
sidetoits baseis 3:2. Find the area of the triangle.
The diameter of a roller is 84cm and its length is 120cm. It takes 500
complete revolutions to move once cover to level a playground. Find
the area of the playground is m®.
A die was rolled 100 times and the number of times 6 appeared was
noted. If the probability of getting a 6 be 2/5, how many times did 6
comeup ?

or

1500 families with 2 children each, were selected randomly and the
following data were recorded.

Number of girls is a family 2 1 0
Number of families 102 675 723

out of these families, one family is selected at random. What is the
probability that the selected family has.

i) 2 girls ii) 1 girl

SECTION -C
If a=2+3, then find the value of a — %.

Factories:a(a—1)—b (b—1)
or
IfP=2—-a, prove thata’+6ap + p°-8=0

The taxi fare in a city as follows : for the first kilometre, the fare is ¥ 25
and for the subsequent distance it is ¥ 14 per km. Taking the distance
covered as x km and total fare as 3y, write the linear equation for this
information and draw its graph.

Three vertices of a rectangle are (3, 2), (-4, 2) and (-4, 5), plot these
points on a graph paper and the coordinates of the fourth vertex.



31.

32.

33.

34.

35.

Prove that the sum of three angles of a triangle is 180°. A
or

InaAABC, B> ZCifAMis the bisector of /ABC
and AN_LBC. Prove that /MAN= % (£B - £C)

B N M C

The measure of angles of a quadrilateral are (x+20)°, (x—20°)°, (2x+5)°
& (2x-5)°. Find the value of x.

or

E is the mid point of the median AD of AABC and BE is produced to
meetAC atF. Show thatAF = + AC.

Prove that parallelogram on the same base and between the same
parallels are equal is area.

or

ABCD is trapezium in which AB|| DC, DC=30cm and AB=50cm. If x
and y are, respectively the mid points of AD and BC prove that

ar (DCYX) = % ar (XYBA)

In figure, O is the centre of the circle. Z/BCO = 30°. Find x and y.

A
X
D
SECTION-D
Show that :
1 1 1 1 1

5

G-8) (B-7)  (7-6) (6-15) (\7-6)



36.

37.

38.

39.

40.

Factories the expression
8x’ + 27y* + 36X’y + 54xy?

Ina A ABC.

i) The sides AB and AC are produced to P
and Q respectively. If the bisectors of
«PBCand ZQCB intersectatApoint O.

Prove that /BOC = 90° — %AA

ii) The bisectors of /B and ZC intersect each other at a point O.
Prove that /BOC =90° + %LA

A

B C
or
If the bisector of an angle of a triangle also bisect the opposite
side. Prove that the triangle is isosceles.
Construct a triangle XYZ in which £Y =30°, Z/Z=90° and XY + YX +ZX
=11cm. Write steps of construction also.

The radius of a sphere is increased by 10%. Prove that the volume will
be increased by 33.1% approximately.

or

The ratio of the curved surface area and the total surface area of a
circular cylinder is 1:2 and the total surface area is 616¢cm?. Find its
volume

The mean marks (out of 100) of boys and girls in an examination are
70 and 73 respectively. If the mean marks of all the students is the
examination is 71. Find the ratio of the number of boys to the number
of girls.

or

The mean of 100 items was found to be 64. Later on it was discovered
that two items misread as 26 and 9 instead of 36 and 90 respectively.
Find the correct mean.
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22.
23.

SOLUTION

PRACTICE QUESTION PAPER - |

N
o=

c) or a) 5
c) 0

d) 3

d) 497

a) 4

c) Infinitely many

b) (0,4) or b) Qand R
b) 40°

a) 3.4cm

b) a rectangle

b) 75°

A =\ s(s—a)(s—b)(s—c)

c) 13 4 4cm’

b) 750cm?

b)  ar(l+g)

a) 1:4

b0 105

d) 38

c) 1—52

P(E) + P(NotE) =1 [P(E) + P(E) = 1]

a= % or y=6-2xFour solutions are

x=1=y=4)(x=3=y=0)
x=2=2y=2)(x=4=>y=-2)

ZQRS = 60°

72cm?

X11(2]13[4

Y14(2]0([-2

other solutions
may be possible



24.
25.
26.

27.

28.

29.

3242 cm®

1584 m?
. N 102 _ o 675 _
40 times or i) 1500 =0.068 i) 1500 =0.45
a—%=2V3 L a=2+43
1=o_13
a

a- % = (2+\3) — (2-V3) = 23 — 24+\3 = 243

a(a—1)—b(b—1)=a>—a—b?+b = (a>~b?)— (a-b) = (a-b)(a+b)—(a-b)

= (a—b) (a+b+-1)
Hence a(a—b)—b(b-1)=(a—b) (a+b-1)
or
P=2-a = a+p+(-2)=0
= a’+p’ + (-2)° = 3xaxpx(-2)
=a’'+p’'—8=-6ap

=a +6ap+p’-8=0

Y =25+ 14(x=1) = y = 25 + 14x—14 = [y=14x+9

Take any two points such as (x=0 = y=9) and (x=—1 = y=-5)

on the graph paper take distance along x—axis and fare (in %) along

y-axis.
Now, plot the points A(0, 9) and B(-1, —=5) on
the graph paper

X

0

-1

9

-5

Join AB and produce it on both side to obtain the required graph.




30.

y=14x+9 X | 0[-1
(0, 9) Yy 1|1 91]-5
on x-axis 1 km = 1cm
on y-axis 13 =1cm
v
=
5
o)) L
+
X
3
1l
>
DT R ST B S

(-1,-5) ¢ -5+

Distance (in Km)

Plot the three vertices of the rectangle as A(3, 2), B(—4, 2), C(—4, 5). To
find the coordinate of the fourth vertex D. Since ABCD is a rectangle.

The opposite sides of a rectangle are

equal. So the abscissa of D

should be equal to abscissa ofA.i.e. 3 and the ordinate of D should be
equal to ordinate of C.i.e. 5. So the coordinates of D are (3, 5).
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MY
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y

Prove that the sum of the three angles of a triangle is 180°.

or

In a AABC, ZB > £C, If AM is the bisector of Z/BAC and AN_LBC.
Prove that /MAN = % (/B - /C)

Given :(— AABC, in which zB > ZC, ANLBC
and AM is the bisector of ZA

To prove : ZMAN =

1
2

A

(«B - «£C) B

Proof :Since AM is the bisector of Z/A = Z/MAB =

In the right angle AANB
/B + ZNAB = 90° = ZNAB = 90° — /B
- ZMAN = ZMAB — ZNAB =

1

= % (/B - £C)

Hence ZMAN =

1

2

(/B-~C)

ZA—(90° — /B)

N M C
1

74A ()

— )

= o ZA- %(4A+LB+LC)+AB [.'.%(4A+AB+AC)=90°]



32.

33.

We know that (x+20)° + (x — 20)° + (2x+5)° + (2x=5)° = 360°

=6 x = 360°
. _ 360°

6

X = 60

or
Draw DP||EF

In A ADP, E is the mid pint of AD and EF||DP

= F is the mid point of AP A

(By converse of mid point theorem) -

in AFBC , D is the mid point of BC and DP||BF ¢ o

.. P is the mid point of FC

Then AF = FP = PC B D C

AF + FP + PC=AC
AF + AF + AF =AC = 3AF =AC = AF = %AC
Hence AF = %AC

Given :— Two || gms ABCD and ABEF on the same base AB and
between the same parallel lines AB and FC.

To prove : ar (|| gm ABCD) = ar (|| gm ABEF)
Proof :  In AADF and ABCE
AD =BC (opposite sides of || gm)
AF = BE (opposite sides of || gm)
/DAF = Z/CBE (.. AD || BC and AF || BE)
angle between AD and AF = angle between BC and BE

C

. AADF = ABCE (SAS Criteria) F D_E
- ar (AADF) = ar (ABCE) (i)

-.ar (]l gm ABCD) = ar (0 ABED) + ar (ABCE) A B

= ar (0ABED) + ar (AADF) using (i)
=ar ( || gm ABEF)
Hence =ar (|| gmABCD) = ar (|| gm ABEF)



34.

or
= (a+b)

Let d be distance between AB and XY D— 0=30cm ¢
then D is the dlstance between XY and DC. x/ \Y
ar (trap. ABXY) = - (a + 220 ) 4 = 3a+b)d
2 2 A 5
q a=50cm
a+3b)d
ar (trap XYCD) = %( a;b +b| = ( 7 )
(3a+b)d
ar(trapxy) _ ar(DCYX) _ 4
ar(trap XYBA) ~ ar(XYBA) = (a+3b)d
4

ar(DCYX) _ a+3b _ 50+3x30 _ 50+90 _ 140 _ 7

ar(XYBA) = 3a+b =~ 3x50+30 =~ 150+30 - 180 =~ 9

- ar (DCYX) = %ar (XYBA)

In A OEC A

ZEOC = 180°—(90°+30°) = 180°~120°-60°

- ZCOD = 90°-60°=30° X

ZCBD = ZCOD = - x 30° = 15° | D
=y=15° [..£CBD=y] 7_ O 39

1 1 B C
Again ZABD = = ZAOD =~ x 90° = 45° \/

and Z/ABC = ZABD +y =45° + 15° = 60° = ZABE
In AABE

/BAE = 180° — (90° + ZABE) = 180° — (90° + 60°)
x = Z/BAE = 180° — 150° = 30°

= x=30°

Hence x =30° and y = 15°



35.  on Rationalising

1 _ 1 (3+\8) _ 3+\8 _3+¥8 _3+V8 _ .. Ja
38 (3-V6) (3+V8) (3 —(V8 98 = 1
Similarly

1 1T _ 1T . T _
\W_VS—\W, \/7_\/6_\/7*‘\/6, V65 \/6+\/5, 52 \5+2
L.H.S.

1 1 1 1 1
(38)  (V8—7) ' (N7—6)  (V6—5) ' (V5-2)

(3—V8) — (V8—\7) + (N7—VB) — (V6—5) + (V5+2)

3-8 — V8—7 + \7—V6 — V65 + \V5+2
3+2

5

=R.H.S

36. 8x’+ 27y’ + 36X’y + 54xy’
= (2x)* + (3y)’ + 18xy(2x+3y) [..a’+b’+3ab(a+b)=(a+b)’]
= (2x)* + (3y)’ + 3(2x)(3y)(2x+3y)
= (2x+3y)’ = (2x+3y)(2x+3y)(2x+3y)

37. i) /B + /CBP = 180° (Liner Pair)
- =1,8+1 cBP=90°
2 2

- %4B+41 = 9Q°

_ ,1=90°—1
= £1=90°-— /B

Again £ZC + ZBCQ = 180°
= 140 +% /BCQ = +0°

N[= N

ZC+ /2 =90°



— /2 =90° - % /C (ii)

INnABOC ~£1+ 42+ /BOC=180° (Angle sum property ofA's)
1

/BOC = 180°— (/1+/2)=1 80°—(90°% /B+90°- 1. £c)
/BOC = V4(/B+/C) = V(L A+/B+/C)=Ys/ A
=15 x 180° = Vs/A [ /A+/B+./C=180°]

ZBOC=90°-"%/A

ii) InAABC
ZA+/B+2C=180° (Angle sumpropertyAA's)
= Yo/ A+Y2/B+Y2/C=90°
= Yo/ A+ L1+ /2=90°

= /1+£2=(90°-%ZA) (i) B C
InABOC

(£1+£2)+ ~BOC=180°

(90°-Y2£A)+ «BOC =180° Using equation (i)

ZBOC=90°+"2/A

or

Given :- A point D on side BC of a AABC such that A
/BAD = ZCAD
and AD=CD
To prove .- AB =AC B 5 +—cC

Construction :- Produce AD to a point E such that -
AD = DE and Join EC
Proof : In A ABD and AECD BD=CD (Given) E
AD=ED (By construction)
/ADB=/EDC (V.0.A))

— AABD = AECD (SAS)



39.

So, AB =EC
and «BAD = ZCED
Also #BAD = ZCAD (Given)

} cpT)__

From (i) and (ii)

ZCAD = «CED

— AC=EC [side opposite to equal angles)

From (i) and (iii)
AB =EC
AC =EC

Hence AABC is isosceles.

}:>AB=AC

The volume of the sphere = % r’
10% increase in radius = 10% r

A B L
Increase radius = r + T
the volume of the sphere now becomes

-4 7T(ﬂr)3=iw1331 3

(ii)

(iif)

3™\ 70 3" 1000 "
=%n « 13317
_4 s 4 s_4 s B
=5 1x 1.331 - 3 7r'= 270 (1.331-1)
=%nr3x0.331
%nr3x0.331
% increase in volume = x 100% =33.1%
o 3
3 mr
or
CSA. __ 2mwh _ 1
T.S.A. 2nr(h+r) 2
h 1
:> — e —

h+r 2



40.

= h+r=2h = h=r
T.S.A.=2nar(h+r)=616=2xr (r+r) =616
=2nrx2r=616 = 4nr*=61.6

_ 4«22 - a -7 =
_4><7 x I? 616><88=>r7 h

Volume of cylinder = nr’h = 2—72 x7x7x7=1078cm’

Volume of cylinder= 1078 cm’

Let number of boys = x, number of girls =y
Total marks obtained by boys = 70x
Total marks obtained by girls = 73y
Total marks obtained by both = 71(x+y)
S T0x+73y=T71(x+y)
= 73y—-71y=71x-70x
=2y=X = % = % = Xxy=2:1
or
Mean of item = 64
Total items = 100
Num. of items = 64 x 100 = 6400
Correct new sum of items = 6400 — (26+9)+(36+90)
= 6400 — 35 + 126

.. Correct new sums of items = 6400+91=6491

6491

1—00 =64.91

.. Correct mean =
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